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Introduction
In last meeting, we provided our simulation results in contribution [1]. For ATG synchronized scenarios, 45dB ACLR / 46dB ACS for ATG BS can be reused to guarantee coexistence between ATG system and TN system.. And 30dB ACLR / 33dB ACS can be reused for ATG UE to guarantee coexistence between ATG system and TN system.

In addition, we have the way forward [2] on ATG co-existence evaluation. For the template of final simulation results table, we have the following Way forward.

	
	Company
	Simulation scenarios
	Throughput loss, detailed explanation in sub-topic 2-3
	Relative ATG ACLR/ACS offset
ATG ACLR/ACS are derived based on that ATG BS and UE use the same value as TN BS and UE

	
	
	
	
	
	
	
	
	

	
	
	5% in the whole network
	
	
	
	
	
	

	
	
	50% in the whole network
	
	
	
	
	
	

	
	
	5% of users within the cell with largest throughput loss for the case of TN DL victim
	
	
	
	
	
	

	
	
	50% of users within the cell with largest throughput loss for the case of TN DL victim
	
	
	
	
	
	

	Note 1: offset 0 means ATG ACLR/ACS=legacy ACLR ACS. There is no uniform ACLR/ACS offset step suggestion.







In this paper, we’d like to share our views to update the template of final simulation results table.
Discussion
Referring to TR 38.876 [3], we have the following synchronized scenarios.
Table 1 synchronized scenarios for ATG coexistence study
	No.
	Combination
	Aggressor
	Victim
	Simulation frequency
	Notes
	Study Phase

	
	
	deployment scenario
UL/DL
	CBW
duplex mode
	deployment scenario
UL/DL
	CBW
duplex mode
	
	
	

	1
	TN with ATG
	ATG DL
	100MHz
TDD
	TN rural DL
	100MHz
/TDD
	3.5 GHz
	
	Phase 1

	2
	TN with ATG
	ATG UL
	100MHz
TDD
	TN rural UL
	100MHz
TDD
	3.5GHz
	
	Phase 1

	3
	TN with ATG
	TN rural DL
	100MHz
TDD
	ATG DL
	100MHz
TDD
	3.5GHz
	
	Phase 1

	4
	TN with ATG
	TN rural UL
	100MHz
TDD
	ATG UL
	100MHz
TDD
	3.5GHz
	
	Phase 1

	9
	TN with ATG
	ATG DL
	20MHz FDD
	TN rural DL
	20MHz FDD
	2 GHz
	
	Phase 1

	10
	TN with ATG
	ATG UL
	20MHz FDD
	TN rural UL
	20MHz FDD
	2 GHz
	
	Phase 1

	11
	TN with ATG
	TN rural DL
	20MHz FDD
	ATG DL
	20MHz FDD
	2 GHz
	
	Phase 1

	12
	TN with ATG
	TN rural UL
	20MHz FDD
	ATG UL
	20MHz FDD
	2 GHz
	
	Phase 1



Based on the agreement in last meeting, the following template can be considered to avoid any ambiguities.
Proposal 1: To update the template of final simulation results table below in order to avoid any ambiguities.
	Company
	Simulation scenarios
	Throughput loss, detailed explanation in TBD
	ATG BS ACLR (dB)

	
	
	
	45
	44
	43
	42
	41
	40

	
	1, 9
	5% in the whole network
	
	
	
	
	
	

	
	
	50% in the whole network
	
	
	
	
	
	

	
	
	5% of users within the cell with largest throughput loss for the case of TN DL victim
	
	
	
	
	
	

	
	
	50% of users within the cell with largest throughput loss for the case of TN DL victim
	
	
	
	
	
	

	Note 1: offset 0 means ATG ACLR/ACS=legacy ACLR ACS. There is no uniform ACLR/ACS offset step suggestion.




	Company
	Simulation scenarios
	Throughput loss, detailed explanation in TBD
	ATG UE ACLR (dB)

	
	
	
	30
	29
	28
	27
	26
	25

	
	2, 10
	5% in the whole network
	
	
	
	
	
	

	
	
	50% in the whole network
	
	
	
	
	
	

	Note 1: offset 0 means ATG ACLR/ACS=legacy ACLR ACS. There is no uniform ACLR/ACS offset step suggestion.



	Company
	Simulation scenarios
	Throughput loss, detailed explanation in TBD
	ATG UE ACS (dB)

	
	
	
	33
	32
	31
	30
	29
	28

	
	3, 11
	5% in the whole network
	
	
	
	
	
	

	
	
	50% in the whole network
	
	
	
	
	
	

	Note 1: offset 0 means ATG ACLR/ACS=legacy ACLR ACS. There is no uniform ACLR/ACS offset step suggestion.



	Company
	Simulation scenarios
	Throughput loss, detailed explanation in TBD
	ATG BS ACS (dB)

	
	
	
	46
	45
	44
	43
	42
	41

	
	4, 12
	5% in the whole network
	
	
	
	
	
	

	
	
	50% in the whole network
	
	
	
	
	
	

	Note 1: offset 0 means ATG ACLR/ACS=legacy ACLR ACS. There is no uniform ACLR/ACS offset step suggestion.




Summary
Proposal 1: To update the template of final simulation results table below in order to avoid any ambiguities.
	Company
	Simulation scenarios
	Throughput loss, detailed explanation in TBD
	ATG BS ACLR (dB)

	
	
	
	45
	44
	43
	42
	41
	40

	
	1, 9
	5% in the whole network
	
	
	
	
	
	

	
	
	50% in the whole network
	
	
	
	
	
	

	
	
	5% of users within the cell with largest throughput loss for the case of TN DL victim
	
	
	
	
	
	

	
	
	50% of users within the cell with largest throughput loss for the case of TN DL victim
	
	
	
	
	
	

	Note 1: offset 0 means ATG ACLR/ACS=legacy ACLR ACS. There is no uniform ACLR/ACS offset step suggestion.




	Company
	Simulation scenarios
	Throughput loss, detailed explanation in TBD
	ATG UE ACLR (dB)

	
	
	
	30
	29
	28
	27
	26
	25

	
	2, 10
	5% in the whole network
	
	
	
	
	
	

	
	
	50% in the whole network
	
	
	
	
	
	

	Note 1: offset 0 means ATG ACLR/ACS=legacy ACLR ACS. There is no uniform ACLR/ACS offset step suggestion.



	Company
	Simulation scenarios
	Throughput loss, detailed explanation in TBD
	ATG UE ACS (dB)

	
	
	
	33
	32
	31
	30
	29
	28

	
	3, 11
	5% in the whole network
	
	
	
	
	
	

	
	
	50% in the whole network
	
	
	
	
	
	

	Note 1: offset 0 means ATG ACLR/ACS=legacy ACLR ACS. There is no uniform ACLR/ACS offset step suggestion.



	Company
	Simulation scenarios
	Throughput loss, detailed explanation in TBD
	ATG BS ACS (dB)

	
	
	
	46
	45
	44
	43
	42
	41

	
	4, 12
	5% in the whole network
	
	
	
	
	
	

	
	
	50% in the whole network
	
	
	
	
	
	

	Note 1: offset 0 means ATG ACLR/ACS=legacy ACLR ACS. There is no uniform ACLR/ACS offset step suggestion.
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